THREFEMRE - ERXEE (BERORRER) /NHER, A8 EHiEHX

4 0 An :
- N HRES 11 -142K2066-1
34. 4 ELMVEEOBZENDHD L HOR
B4 INTHERG
Py
AR7E#h BiEWm/IHE. ABEHIS BEOSEFNDHZ L DX
= =5
//0‘\// i 7

; 4175
2N\ AN«
&Q <\ /\\ \ { 2 /\\ (// F— 4
\\ \\/) < \ ( / 0
Yo Voo -
- \ \ oci
/\’/KI \\ \\ 13\\ '\:\r*""'ﬂ”
\ /_/”)
i i 40
~ //\/\\\ // —
43.6% X
N2
/0 25 50 100




THRKEFERRE - ERRER (BERMORIR) /NHER, ABEHSHEX

ELLEFOHENDHZ L DRI

BENSTNDOHD L DR i




LENE

ERRE- A E R EE (RERMORIR) /NHER, ABEHSHX

" 44 2
A = BRES I -142K2066-2
— e T EUVEEOSETNOHS T ORI
FRTEHE EEh/IhE, ABEHS BEOHTNOHZ L ORI
=
T i
//( o~ \\jﬁ AN
/\g , /> < xR \ ) o
‘/ﬂ\’ - /\ llll gl
{NHB > gt || T
N ..(\/\ OO \\ |4ﬁﬁ5
N S VS il
) ~o X a
45 D O
P S
¢ /\/ \ &/ (\ \//
720
\\w > i \’/
o e M B )
N\ Ny i\ 3 36. 1
\\/' el
A = 70
\\ /\\ I~ /
0 25 50




I -142K2066-2
INTIER6




